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DIPLOMA IN MEAT TECHNOLOGY (DMT) 

Term-End Examination 

June, 2022 

BPVI-022 : MEAT ANIMALS AND ABATTOIR 

PRACTICES  

Time : 2 hours Maximum Marks : 50 

Note :  Attempt any five questions. All questions carry 

equal marks. 

 

1. Fill in the blanks (any ten) : 101=10 

(a) India ranks _________ in cattle population in 

the world.  

(b) The abbreviation FAO stands for _________ . 

(c) _________ is a method of treating pig with 

hot water to remove hair. 

(d) For the purpose of meat, the goat and sheep 

should be slaughtered at the age of 

____________ months. 

(e) Jewish people follow ___________ slaughter 

as per their religion.  
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(f) A/An __________ is a licensed place where 

animals are slaughtered for meat for human 

consumption.  

(g) Overall intensity of light should not be less 

than ___________ lux in workrooms of an 

abattoir. 

(h) Pregnant animals are declared ___________ 

for slaughter during ante-mortem 

examination.   

(i) Brucellosis is a ____________ disease causing 

abortion in animals.  

(j) In low voltage electrical stunning, an electric 

current of ____________ volts is manually 

passed through the brain of animal for 7 to 

10 seconds.  

(k) ___________ is a resting place for animals in 

slaughter house. 

(l) Meat of adult sheep is known as _________ .   

2. (a) Write down the prospects of pig rearing as a 

source of income in weaker sections of 

society.   4 

(b) Describe the day-to-day management of 

meat animals.  6 
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3. (a) Name eight important sheep breeds of 

India.  4 

(b) What is the scope of poultry farming in  

India ? Name any two important poultry 

breeds.  3+1 

(c) Name any four conditions which indicate 

disease in animals. 2 

4. (a) Write down the basic guidelines for animal 

feeding.  4 

(b) Enlist the main components of an abattoir.  3 

(c) Why is effluent treatment plant necessary in 

a modern abattoir ? 3 

5. (a) Enlist the modes of transport of livestock. 

Describe any one of them.  1+3 

(b) Describe the advantages and suitable 

conditions in the lairage for meat animals.  4 

(c) What is meant by notifiable diseases ? 2 

6. (a) What is emergency slaughter ?   2 

(b) Name at least eight edible offals.  4 

(c) Write about the following byproducts : 2+2 

(i) Bones 

(ii) Intestine  
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7. (a) What is meant by zoonoses ? List at least 

six zoonotic diseases. 1+3 

(b) Write down the procedure of slaughter and 

dressing of goat.  4 

(c) Enlist the possible judgements on the basis 

of post-mortem examination. 2 

8. Write short notes on any four of the  

following : 42
2

1
=10 

(a) Rabbit as a Meat Animal  

(b) Disposal of Animal Suffering from Notifiable 

Disease    

(c) Ante-mortem Examination of Meat Animals 

(d) Evisceration 

(e) Rendering   
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 ~r.nr.dr.AmB©.-022  

 _m§g àm¡Úmo{JH$s _| {S>ßbmo_m (S>r.E_.Q>r.) 

gÌm§V narjm 

OyZ, 2022 

~r.nr.dr.AmB©.-022 : _m§g new Am¡a dYembm ì`dhma 

g_` : 2 KÊQ>o A{YH$V_ A§H$ : 50 

ZmoQ>  : {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ 

h¢ & 

1. [aº$ ñWmZm| H$s ny{V© H$s{OE (H$moB© Xg ) :  101=10 

(H$) _doer newAm| H$s Am~mXr H$s Ñ{îQ> go {díd _| ^maV 

H$m __________ ñWmZ h¡ &  

(I) g§{j{ßV E\$.E.Amo. H$m nyam Zm_ h¡, __________ &   

(J) __________ {d{Y Ho$ VhV gyAa Ho$ ~mb CVmaZo Ho$ 

{bE, J_© nmZr go Cgo CnMm[aV {H$`m OmVm h¡ &  

(K) _m§g àm{ßV Ho$ CÔoí` go, ~H$ar Am¡a ^o‹S> H$m dY, 

__________ _mh H$s Am`w _| {H$`m OmZm Mm{hE &   

(L>) `hÿXr bmoJ, AnZo Y_© Ho$ AZwgma, __________ 

VarHo$ go new H$m dY H$aVo h¢ &  
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(M) __________ bmBg|g àmßV OJh h¡, Ohm± _mZd 

Cn^moJ hoVw _m§g Ho$ {bE newAm| H$m dY {H$`m OmVm  

h¡ &  

(N>) dYembm Ho$ H$m`©-H$jm| _| g§nyU© àH$me H$s Vrd«Vm 

__________ bŠg (lux) go H$_ H$s Zht hmoZr 

Mm{hE &  

(O) J^©dVr newAm| H$mo dYmonyd© (ante-mortem) Om±M Ho$ 

Xm¡amZ, dY H$s Ñ{îQ> go __________, Kmo{fV {H$`m 

OmVm h¡ &  

(P) ~«wgobmo{gg, newAm| _| J^©nmV CËnÞH$mar __________ 

amoJ h¡ &  

(Äm) H$_ dmoëQ>oO na d¡ÚwV go ~ohmoe H$aZo H$s {d{Y _|,  

7 go 10 goH$ÊS> Ho$ {bE, new Ho$ _pñVîH$ go 

__________ dmoëQ> H$s d¡ÚwV Ymam H$mo hñVMm{bV 

{d{Y go JwµOmam OmVm h¡ &  

(Q>) ___________, dYembm _| newAm| Ho$ Amam_ H$aZo 

H$s OJh h¡ &  

(R>) d`ñH$ ^o‹S> H$m _m§g, ___________ H$hbmVm h¡ &   

2. (H$) gyAa nmbZ H$s g§^mì`Vm H$mo g_mO Ho$ H$_Omoa 

dJm] _| Am` Ho$ EH$ òmoV Ho$ ê$n _| {b{IE &  4 

(I) _m§g newAm| Ho$ X¡{ZH$ à~§YZ H$m dU©Z H$s{OE &   6 
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3. (H$) ^maV H$s AmR> _hÎdnyU© ^o‹S> Zñbm| Ho$ Zm_  

{b{IE &  4 

(I) ^maV _| nmoëQ>́r nmbZ H$m joÌ-{dñVma (scope) Š`m 
h¡ ? {H$Ýht Xmo _hÎdnyU© nmoëQ>́r Zñbm| Ho$ Zm_  
{b{IE &   3+1 

(J) newAm| _| amoJ Xem©Zo dmbr {H$Ýht Mma pñW{V`m| Ho$ 
Zm_ {b{IE &  2 

4. (H$) new Amhma Ho$ ~w{Z`mXr {Xem{ZX}e {b{IE &   4 

(I) dYembm Ho$ _w»` KQ>H$m| H$s gyMr ~ZmBE &  3 

(J) AmYw{ZH$ dYembm _| ~{h:òmd CnMma g§`§Ì Š`m| 
A{Zdm`© h¡ ?  3 

5. (H$) newYZ n[adhZ Ho$ gmYZm| H$s gyMr ~ZmBE & CZ_| 
go {H$gr EH$ H$m dU©Z H$s{OE &   1+3 

(I) _m§g newAm| Ho$ {bE {Z{_©V new-H$j Ho$ bm^ Ed§ 
C{MV pñW{V`m| H$m dU©Z H$s{OE &   4 

(J) gyMZr` amoJm| go Š`m Ame` h¡ ?  2 

6. (H$) AmnmVH$m{bH$ dY Š`m h¡ ?  2 

(I) H$_-go-H$_ AmR> ImÚ Amo\o$bm| Ho$ Zm_ {b{IE &  4 

(J) {ZåZ{b{IV CnmoËnmXm| Ho$ ~mao _| {b{IE :  2+2 

(i) h{È>`m±  

(ii) Am±V 
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7. (H$) newOÝ` amoJ (µOyZmo{gg) go Š`m Ame` h¡ ?  

H$_-go-H$_ N>h newOÝ` amoJm| H$s gyMr ~ZmBE &    1+3 

(I) ~H$ar Ho$ dY Ed§ g§gmYZ (S´>oqgJ) H$s H$m`©{d{Y 

{b{IE & 4 

(J) new dY Ho$ ~mX H$s Om±M (nmoñQ->_mQ>©_) Ho$ AmYma 

na g§^m{dV {ZU©`m| H$s gyMr ~ZmBE & 2 

8. {ZåZ{b{IV _| go {H$Ýht Mma na g§{jßV {Q>ßn{U`m±  

{b{IE :  42
2

1
=10 

(H$) _m§g new Ho$ ê$n _|§ IaJmoe  

(I) gyMZr` amoJ go J«ñV new H$m {ZnQ>mZ   

(J) _m§g newAm| H$s dY Ho$ nyd© (ante-mortem) H$s 
Om±M  

(K) A§Va§J {ZH$mbZm (A§Va§JjonU)  

(L>) n[aîH$aU  


